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1. | 3ax.Ykp./OM3 1. | Ximig
¢ | 2. | Ximiga 2. | Biosoris
£ |3. | Disuxa 3. |3ax.Ykp./OM3
o | 4. | ActpoHoMmis 4. | Ykp.MoBa
S |[5. | Aur.mosa 5. | Oizuka
= 6. | Bioorix 6. | ActpoHoMmis
/. | ®i3kyabpTypa 7. | ®i3kyabpTypa
1. | Ier.Vkp. 1. |Teorpadis
o 2. | AHr.mMoBa 2. | Anrebpa
S |3 | Ykp.moBa 3. | AHr.MoBa
€ |4 | MucreurBo 4. | BececB.icT.
E:QEQ 5 | Anrebpa 5. | Ykp.moBa
6 | ['eorpadis 6. | Ykp.mir
7 | Bcecs.icT. 7. | Mucreurso
1 | Ykp.moBa 1. |Ict.Vkp.
2 |icT. YKp 2. | Aar.moBa
8 |3 |I'eomerpisl 3. | l'eomeTpist
% 4 | 3ap.miT. 4. | Ykp.mMoBa
O |5 | Mucreurso 5. | ®13uka
6 | IcTopist Bcecs. 6. | Ykp.miT.
7 | Ykp.Jir. 7. | Mucreurso
1 | Ykp.moBa 1. | Aur.moBa
2 | ®i3uka 2. | 3ap.mrt
2 |3 | Anr.mMoBa 3. | ler.VYkp.
E 4 | Be.icr. 4, | Anrebpa
= |5 | AnreGpa 5. | InbopmaTuka
6 | dizkynapTypa 6. | dizkynpTypa
7 | Indopmartuka 7. | Ykp.mir.
1 | IcT.ykp. 1. | Ximis
= |2 | Ximis 2. | Ykp.mit
= |3 | Teomerpis 3. | l'eometpis
= |4 | Ykp.moBa 4. | dizuka
é 5 | bionoris 5. | Aur.moBa
6 | ®i3uka 6. | biomoris
7 | di3kynapTYypa 7. | ®i3kynapTYypa




